Name:

Date:

Teacher:

Class:

Addition and Subtraction 505

What gets smaller when you put more stuff in it? A Hole!

Calculate.

L. 8,021 2 5,293 3 8,887 4 5,462 > 3,178 & 8,946
+ 1,113 + 2,705 + 1,001 1,104 2,400 1,002
£ 8,482 & 3,104 ° 3,133 10 5061 11 8,333 12 2,157
-1231 - 1,102 - 1,120 1,051 1,212 1,151
13. 1957 14 18011 49371 6,090 907018 2437
+ 6,041 + 4,017 + 1,010 1,504 1,507 5121
19. 9,222 20 5086 % 7,255 22 1979 2% 6,989 %4 7,598
- 1,111 - 1,044 - 1,142 1,718 1,685 1,512
25 6,306 %6 6,054 %"~ 7,436 %8 2,305 2 8,073 30 7,628
+ 1,420 + 2,625 + 1,352 1,063 1,220 1,160
sl. 22203 9,449 33 9831 3% 94253 252536 5023
- 1,110 -1,424 - 1,721 1,313 1,313 1,022
373,110 %8 5,802 3 1,247 40 5248
+ 2503 + 1,047 + 1,111 1,200
© Facilitators Ferriswheel WS#:A&S505 Score:



Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 505

What gets smaller when you put more stuff in it? A Hole!

Calculate.

1 8,021 2 5,293 3 8,887 4 5,462 > 3,178 & 8,946
+ 1,113 + 2,705 + 1,001 1,104 + 2,400 1,002
9,134 7,998 9,888 6,566 5,578 9,948
! 8,482 8 3,104 ° 3,133 10 5061 11 8,333 12 2,157
-1231 - 1,102 - 1,120 1,051 - 1,212 1,151
7,251 2,002 2,013 4,010 7,121 1,006
13. 1957 14 18011 49371 6,090 907018 2437
+ 6,041 + 4,017 + 1,010 1,504 + 1,507 5121
7,998 5,818 5,947 7,594 10,577 7,558
19. 9,222 20 5086 % 7,255 22 1979 2% 6,989 %4 7,598
- 1,111 - 1,044 - 1,142 1,718 - 1,685 1,512
8,111 4,042 6,113 261 5,304 6,086
25 6,306 %6 6,054 %"~ 7,436 %8 2,305 2 8,073 30 7,628
+ 1,420 + 2,625 + 1,352 1,063 + 1,220 1,160
7,726 8,679 8,788 3,368 9,293 8,788
sl. 22203 9,449 33 9831 3% 94253 252536 5023
- 1,110 -1,424 - 1,721 1,313 - 1,313 1,022
1,110 8,025 8,110 8,112 1,212 4,001
373,110 %8 5,802 3 1,247 40 5248
+ 2503 + 1,047 + 1,111 1,200
5,613 6,849 2,358 6,448
© Facilitators Ferriswheel WS#:A&S505 Score:



